ITI Sheet Metal Worker 1st Year Module 6 Advance Sheet Metal Process
(1). What is the type of operation? | WWWW%?

.
.

N

\\\ \ \\
(A) Drawing | ST§T
(B) Curling | P
(C) Plunging | TATFRSIT
(D) Forming | ti&h

(2). Which is the type of machine to perform the sheet metal operation like

beading, crimping and corrugating? | Tfic Hed &r”rqwqﬁﬁa?%ﬂ, fopfatiT 3R
BRI B A & I AT HT ISR B AT R?

(A) Barfolder | IR hltsY

(B) Bench folder | CELAIGEN

(C) Nibbling machine | fafe wef=

(D) Universal swaging machine | qﬁaﬁa@nmﬂ?



Correct Answer : D

(3). For stiffening, reinforcement or ornamentation on sheet metal which type of
sheet metal machine is used? | RiC Hed Bl T R, g%aﬂwm 3PN o
fore ford U R &1 2fte Aed 7= &1 IugiT fear s |2

(A) Beading machine | SifETT ORI
(B) Folding machine | Tolfca O=fiH
(C) Seaming machine | TITHTT AR
(D) Fly press | TS 44

Correct Answer : A

(4). Which type of cutting fluid is used while drilling cast iron? | m@%ﬁ
f$feiT & SR ford UBR &1 Ha gog UaIT fhar Srar g2

(A) Chemical solution | RIBIGCAC NS
(B) Mineral oil |@|ﬁ7ﬂ?ﬂ

(C) No cutting fluid | P % g

(D) Soluble oil | Waﬁ

Correct Answer : C




(5). What is the name of part marked as ‘X’? | 'X’ %Wﬁﬁl’%ﬁ HNAT bl [A1H KT

(A) Head stock | %_S'E'VW

(B) Tail stock | A XI®

(C) Lathe spindle | Y 1 fsq
(D) Lathe Bed | AU SIS

Correct Answer : D

(6). What is the operation if circular holes are made in a regular pattern or evenly

spaced? | Ife T afid Ue g1 9HM 0 I MABR B¢ I9E STd & af
SHTORTA T 5?

(A) Perforating | TRWBIRICT
(B) Plunging | TSI
(C) Punching | Gf=iTT
(D) Piercing | TOaff

Correct Answer : A

(7). Which is necessary to protect the tool from damage in spinning operations? |

HdTs b FaTa H &fd T SUBRUI B! S & oI -7 I 82




(A) Do not lubricate the tool | SUDHRUI BT Hg 7 B

(B) Lubricate the tool | T¢l BT WG HY
(C) Too much lubricant should use | Sgd 31T WD BT SYIRT HRAT AT
(D) Kerosene used as lubricant | PRI BT Q;|60b & &g H sec“mm foar S

Sl

Correct Answer : B

(8). What is the purpose of fixture? | ThoRIaR T T da-‘&l %?

(A) To hold the job | BTH B UHSI
(B) To guide the cutting tool | P Gﬁ\_rﬂqﬁ‘llsg DAl

(C) To hold the Job and guide the cutting tool | BT B Udh Sl GﬁT Ha Gilﬂlq
DTS HAT

(D) To locate and hold the work piece | BT Bl U Sl GﬁT Al e D]

Correct Answer : D

(9). What is the name of part marked as ‘X’? | 'X’ %Wﬁﬁl’%ﬁ HNAT bl [A1H KT




(A) Taper pin | R U

(B) Wedge | ol

(C) Forming plate | THITHT wie
(D) Clamping dog | FATRRT ST

Correct Answer : B

(10). What is the name of machine? | WWWW%’J

(A) Bar folder | CERARER

(B) Mechanical press brake | Abfed U9 sb

(C) Universal swaging machine | W@"TW

(D) Three roll forming machine | o A M D HRIA

Correct Answer : C



(11). What type of jig is suitable for thin and soft work pieces? | qdal GﬁTHFI'I'CIﬂ

&1 @ust & forg oI T 5 Juged 72
(A) Table jig | CocT fomT

(B) Plate jig | Wic ST

(C) Channel jig | TTct foRT

(D) Sandwich jig | SSf3d jig

Correct Answer : D

(12). What is the type of bead? | mmWﬁé?

(A) Single bead | RIFTA &S
(B) Ogee bead | 3T &8

(C) Triple bead | [¢Ue atS
(D) Corrugating | PRI

Correct Answer : C

(13). For which operation grooves are provided on the front and rear rollers of slip

roll former? | m&ﬁmqé%n%uﬁauﬁﬁ?%&nﬁsﬁ?tﬂéémw

T IUAsY BT ST &2




(A) Hemming | BfHT
(B) Seaming | TIfET
(C) Crimping | TopTRITT
(D) Wiring | GTafT

Correct Answer : D

(14). What is the percentage of soluble oil mixed with water? | Gﬁﬁw

dd fore wfar=rd freman S g2
(A) 0.2
(B) 0.15
(C) 0.1
(D) 0.05

Correct Answer : D

(15). What is the process of surface finish to produce shining or mirror finish to

metallic component? | YT Ych P THDIA WWWW%WW
ORSHRUT &t Ul T 8?2

(A) Buffing | STthT

(B) Polishing | TICIRAT
(C) Scratching | ThT<T
(D) Grinding | ATSf&T

Correct Answer : A

(16). How the spinning lathe is specified? | B EURGERI G| ﬁlé@ WW%?



(A) Centre height over bed & length of bed | 98 B HUW af);i Pl &)'Cllir @Ta_é
EINSCIE

(B) Headstock spindle taper | %mﬁﬁl@ﬁ%lﬂ

(C) Tailstock quill taper | TP [BPACIR

(D) Bed width and height from floor | éts’ﬁ%ﬁsrs‘ @TW@W

Correct Answer : A

(17). What is the type of operation in cutting sheet metal with the help of a punch

and die on power press? | EENICARPRLCE] ﬁ?ﬁ%ﬂﬂ?ﬂ?ﬂ]ﬂﬁm
T 3{TRRM BT UHR FT 52

(A) Punching | GfT
(B) Piercing | ToafT
(C) Blanking | SAifhT
(D) Shearing | R

Correct Answer : D

(18). How the fly press is specified? | TS U &l Y foar SiTar g2
(A) Ball weight | Tig &I aol

(B) Screw rod dia | &P XIS I AT

(C) Fly arm length | TRITS 31T &1 T

(D) Distance between Ram and Bed | ¥H 3R 98 & o1 &1 g1

Correct Answer : B



(19). Which type of cutting fluid is used while drilling Aluminium? | QFEFﬁﬁTIﬂ
1 3ol & SR 5T UBR &1 - god TN fohar Srar g2

(A) Mineral oil |"@|ﬁ\_ﬂaﬂ
(B) Air | dig

(C) Soluble oil | GeTRITd dd
(D) Chemical or synthetic soluble oil | A T HEHT GI=Md dd

Correct Answer : A

(20). What is the name of part marked as ‘X’? | ’X’ %Wﬁﬁl’%ﬂ YT hT ATH KT

87

b

(A) Former | BTHR

(B) Follower | BIdIaR

(C) Live centre | AI3d Tex

(D) Lathe spindle | Y &1 fsd

Correct Answer : A



(21). How the article is held and fed against the buffing wheel in buffing? | d¥d

DI ST A | St Bid & RaeTh Hd @1 3R WIS foar Sirdr g2

(A) Above the centre line of the buffing wheel | STt @Id D1 g TG b HUR
(B) Sides of the Buffing wheel | STthl &Il B! U138

(C) Exactly in the centre line of the wheel | UfgdT & faepd g X1 &

(D) Below the centre line of the buffing wheel | STthTl G Id Bl bg @I b HId

Correct Answer : D

(22). Which is the disadvantage of spinning process? | WWWW
T g?

(A) Faster process | GRCIER
(B) Saving time | JHY dd[l

(C) Die can be modified for the next job | WW%W@%@WW
S Al §

(D) Slow process | et ufdhan

Correct Answer : D

(23). What is the type of operation? | &TWWWW%?
v

v
7

(A) Forming | WIfHT




(B) Drawing | E'IQTT
(C) Plunging | AT
(D) Curling | Pfefr

Correct Answer : C

(24). What is the formula to calculate the length of the angle section, if ‘D4’ is heel
diameter and ‘T’ is thickness of angle section? | B0 &ﬁwﬁmﬁﬁm
TR BT P R 8, TG ’D,’ Bid DT A g 3R /T PV WS B HICTS 87

(_31 T+ lT_)n

(D,l vT—%T)Tr
(C)

(D, +T+1T)
(D) m

Correct Answer : A

(25). Which machine is used to close or lock the grooved seam? | ‘/10_6'@1:[@@?{
T dlcp R P foTT fo Wi o1 I fobar ST 82

(A) Swaging machine | QT A==
(B) Folding machine | Toifce O=fH
(C) Seaming machine | TITHTT AR
(D) Fly press | TS 44



Correct Answer : C

(26). What is the sheet metal operation if reducing the diameter of the pipe for
joining to same diameter of other pipe? | qﬁﬂ'@%@ﬂﬁ Y JAF AT B
U1y H Sheq & forw &H foran Srar @ ) 2ie Aed iR R g?

(A) Crimping | TopfERT

(B) Beading | SIS

(C) Grooving | I

(D) Corrugating | PRI

Correct Answer : A

(27). What is the formula to calculate the length of the curved space, if ‘R’ is the
radius on neutral axis? | WW@W@W B BT A H g, afg?
R TR 3 R =T 82

360 x Angle of curve
27R

(A)

Angle of curve
360

x 2R

(B)

Angle of curve x R
2 x 360

(C)



Angle of curve x 2n
R x 360

(D)

Correct Answer : B

(28). What is the name of part marked as ‘X’? | 'X’ %Wﬁﬁﬂ%ﬂ YT hT ATH KT

(A) Body | STS!
(B) Crank | shdh
(C) Horn | 8
(D) Grooving roll | AT RId

Correct Answer : C

(29). What will be the cost of spinning die compared to a press tool? | aﬂ@?{ﬁ

o H Ul 1€ &t anTd | g
(A) Cheap | H¥dIl
(B) Costly | H&




(C) Equal | SRTSRI &1
(D) More costly | 31feH TEM

Correct Answer : A

(30). Which is a decomposed limestone abrasive, yellowish brown in colour used

for polishing brass and copper? | diad 3R did &l IHdH %ﬁﬁmsﬁwm
ST 9Tl U 3aafed T URR 30asd, Uieh 4Y 3T H1 §IdT 82

(A) Pumice | Ifer
(B) Rouge | =9

(C) Tripoli | FOen
(D) Whiting | ST

Correct Answer : C

(31). Which type of power press has the mechanical arrangement for raising or
lowering the bolster plate? | ¥ UHR & UIaR U H Five @We Bl HUR 36
g7 =11d HRA B! FifAd TIRIT BIel |2

(A) Gap press | ﬁqaﬂ

(B) Adjustable bed press | QS\?NEGIG ds Ug
(C) Straight slide press | %ﬁﬁﬂg@:tﬁr

(D) Pillar press | IEERCES]

Correct Answer : B




(32). What is the name of part marked as ‘X’? | 'X’ %Wﬁﬁl’%ﬁ HHAT o[ A1H =T

87

#
Y

-

(A) Head stock | %_S'E'VW

(B) Tail stock | <1 ¥lch

(C) Lathe spindle | Y 1 fsd
(D) Bed | 98

Correct Answer : C

(33). What is the name of equipment? | SUDH U] b [TH H]] %?

(A) Bending fixture | ST flheRIR



(B) Fly press | u?ﬂ's‘ﬁ“er
(C) Straightening fixture | @jﬁ"lﬁﬁﬂ?ﬂ
(D) Power press | i U

Correct Answer : B

(34). What is the name of part marked as ‘X’? | 'X’ %Wﬁﬁﬂ%ﬂ YT hT ATH KT

87

(A) Former | BTHR

(B) Follower | BIdIaR

(C) Live centre | AI3d Tex

(D) Lathe spindle | Y &I fsd

Correct Answer : B



(35). What is the type of bending? | Q%TWWW%W

(A) Bending with die | S8 I HIST

(B) Bending with fixture | ThaE=R ¥ HISHT

(C) Bending on pipe vice | UTI3T a1 ¥ HIGT

(D) Bending using bending jaw | ST<ST1 STahg ¥ Hie-T

Correct Answer : D

(36). What is the operation on cylindrical sheet metal objects to provide stiffness
for reinforcement or ornamentation? | WWEIT 3BT AT HARA UG
R P OTE JTTHR e YT BT axg3T TR 1 o arelt HiohdT o g2

(A) Crimping | TofRITT

(B) Corrugating | PISITCT
(C) Beading | SifST

(D) Grooving | gfdT

Correct Answer : C




(37). Which type of jigs are used to hold the large or awkwardly shaped work

pieces? | @@TWW%WW@W%W@?@W
T B STl 82

(A) Box jig | ST fomT

(B) Solid jig | Tifcrs fomT

(C) Sandwich jig | Safas forT
(D) Trunnion jig | S fomT

Correct Answer : D

(38). Which type of spinning tool is used to trim the extra metal from the edge of

spin object? | T 3ffsoide & fobR I 3Rt T 1 fIdH B & oy fvg
THR & (11 ga o1 SuaiT [ S g2

(A) Round nose tool | Tt AT BT 3SR

(B) Fish Tail planishing tool | méﬁwgﬂ
(C) Cut off tool | Wwﬁﬁw

(D) All purpose tool | ﬂ‘q‘g%‘&{ﬂ'q Gﬁw

Correct Answer : C



(39). What is the type of bending operation? | ST &TWWWW%?

(A) Bending on vice | El'l's,ﬂq?thﬁ

(B) Bending using bending jaw | WWWWWW

(C) Bending with bending fixtures | WWWWWW
(D) Bending with bending die | wmﬁmﬂmm

Correct Answer : C

(40). What is the capacity range of mechanical presses? | i U9 &I &l
JTRI8?

(A) 5 to 4000 tonnes
(B) 5to 4100 tonnes
(C) 5to 4200 tonnes
(D) 5to 4300 tonnes

Correct Answer : A



(41). What is the process of stretching a piece of metal by hitting it with a round

hammer? | m%gﬁﬁﬂag@%ﬁtﬂwaﬂwﬁmﬁﬁmm

g?

(A) Embossing | TRIITRIT
(B) Braising | ST

(C) Beading | SIS

(D) Burring | ST

Correct Answer : B

(42). What is cutting speed in drilling? | |3|?1"| Tfeear ® o i = %?
(A) Rotation of drill at its axis | fS¢l BT 3D HHW‘{U&[

(B) Rotation of work piece that being drilled | ﬁ'gﬂ%‘l SIEKCITy GI‘JIJWEI;Uﬁ
(C) Rate of material removed by drilling | Iglﬁ‘l WW@W@R

(D) Distance travelled by a drill over the job in one minute | Wﬁlﬁ?ﬁ%ﬂ
SRIDHH R a9 & T g

Correct Answer : D

(43). Which type of multi start threads are cut on the screw rod of fly press for
better transmission of force and better strength? | W%WW G?RW
dTehd & ot FelTs O 1 I 1S TR fhd U R & Heel W IS HIe S1d 82

(A) Knuckle thread | TJahd IS
(B) Acme thread | Qaffa_s'
(C) BSW thread | BSW 3
(D) Square thread IWQ_S'

Correct Answer : D



(44). What is the purpose of polishing operation? | UITeT R Tidhar &1 3%33 [
87

(A) To correct to assemble parts | &@Wmﬁlﬁ?ﬂﬁ lﬂ"'ﬁﬁﬂﬁﬁ%ﬁm
(B) To correct the dimension required | qifesd 3MTATH TP 31PH B %ﬁ«m

(C) To form required shape | 3TdRYh WW%%’Q

(D) To make scratch free surface | R Hdd dde GEIE %%I'Q

Correct Answer : D

(45). What type of operation is performed? | fhPg ypR &1 G{WWW%?

ey

| |

(A) Fitting forming plate | BIFHT Wic fibe HRAT
(B) Securing the work | BT &I RI&A BT

(C) Forming (web inside) | (3/GR BT dd) FAHI
(D) Forming (web outside) | (STER T ad) §HT

Correct Answer : A



(46). Which type of die can be separated and removed easily from a finished

component? | fpT TBHR o1 TS Bl T fHUT ST bl g 3R dIR geh I
ST BT ST Thell g2

(A) Coredie | w:ﬂé
(B) Segmental die | @"Tﬁ?ﬂ@ﬁ

(C) Inside die | TS BT

(D) Outside die | 3TICITSS S5

Correct Answer : B

(47). What is the purpose of jig? | NGl 3%52?1 %?
(A) To hold the job | HTH B UHSI
(B) To guide the cutting tool | P 3SR ﬁ‘llsg DAl

(C) To locate and hold the work piece | cankeal Uch S| GﬁT Al e D]

(D) To hold, support, locate and also guides the cutting tool | GeRE| 3R I
U ST, GgRT &1, b e B, 3R M B

Correct Answer : D

(48). What type of machine is used for double hemming process? | saa%ﬁm

TfehaT & o fh e TR 1 A=A o1 SUTT fohaT offd g2
(A) Beading machine | SifETT ORI

(B) Grooving machine | TfdT AR

(C) Bar folder machine | ¥R HRIH

(D) Universal swaging machine | gfasd a7 A=A

Correct Answer : C



(49). Which type of drill machine is operated by compressed air? | fhg PR &I

fea TR Yifed arg gRT TaTferd gid 62
(A) Electric | 3@%
(B) Hand operated | ET?I@W[;(’IFT

(C) Pneumatic | qﬁ%
(D) Electronic | 3@3@%

Correct Answer : C

(50). What is the over all length of a spin hand-forming tool? | @:{%‘U@lﬁﬁfﬁ
o &1 A Adlg 1|2

(A) Between 750 and 850 mm
(B) Between 300 and 450 mm
(C) Between 650 and 700 mm
(D) Between 450 and 500 mm

Correct Answer : A



